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Paper : ECO-HC-3036

( Statistical Methods for Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
O PR e fil
(a) What is statistic?
sAforfe 2

(b) What is the first moment about the
mean?

9 22y g 2

(c) Define probability.
Sifder Age |
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(2)

(d) When are the two events said to be
mutually exclusive?

CFSH1 o1 o ~I=eifi 3 et ot = 2
(e) What is random variable?

oS Ber 1 2

() Is binomial distribution a distribution of
continuous random variable?

fas 3%+ fozet Afoes Bo/hd I =C 2

(g9 What is the shape of the normal curve?
FORE @R PO (A1 ?

(h) What is sample?
sffrf & 2

() What is correlation?
T 2

() Mention one property of random
sample.
e Aferda @bt of Soa 4 |

2. Answer the following questions : 2x5=10

o HNEIRT Sed fu

(@) Distinguish between population and
sample.
B = aiferfa e snefes frar |
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(3)

(b) State the addition theorem of
probability.

TSR @15 OGCh! STad T4
(¢) Mention two properties of the uniform
distribution.

RGeS o1 4 SEY 1 |

(d) What is covariance?

A2 62

{e) What is stratified random sampling?

TR AR eifena 2

3. Answer any four of the following questions :
5x4=20

@i 2PPTRA R e BIfere Ted fra -

(a) Prove the multiplication theorem of
probability.

IO *[39 TGO eI 1 |

(b) A random variable X assumes only three
values -1, 0, 1 with equal probabilities.
Find E (X).
<51 IR T X @@ Wi fofA w1 -1, 0, 1
o, Rre2or TRl 799 | E (X) Sferear |
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(4)

(c) Explain the concept of distribution

functions for jointly distributed random
variables.

(d) Mean of a binomiai distribution is 4 and

its standard deviation is +3. Obtain the
values of n, p and q.

f%ﬂwa%qqﬁammcxwmﬁwﬁ.
n, p 9 g I I Tferear)

(e) Explain Bayes’ rule,

SECTRTHEE e
() Explain  the multistage  random
sampling,
I Ao oifomas [T 347 |
4. Answer any four of the following questions :
10x4=40

O PP R @1 wifem Tagq faa -

(@) Derive the mean and variance of
binomial distribution. 5+5=10
et 3% g wre TR Sforaa |
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(S)

(b) Define probability mass function (pmf).
Derive Poisson distribution as a limiting

case of binomial distribution.

Seifde] =4 a9 (pmf)d W@ T | fem
3% e o1 261 “Ri5 35 Sferea |

(c) Discuss the properties of normal
distribution.

Srefde 94 43TIR SAICAD] 47 |

(d) Find Karl Pearson’s correlation
coefficient from the following data and

interpret the result : 8+2=10
CECARCC i o I G DR LT B b S 2D K
Sferear = T I I

N 15 Yie R a1 S oN 820

Y ' 800 75 60 E4OREESORSO0

(e) An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of

three or both.

oo e B TEed AL i
SRICHT BT IW AN A 3T QT I TR
@A TSR] ST |
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(9)

24A/85

What are the principal steps in a sample

survey? Discuss.

aferd SR g R & 2 e

EEIN

Mention the difference between mean

deviation

standard deviation.

Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

e oe W1F e v wow o S
90| T [{6eR 61 4 Sra 41 | were o
OUR o[ MAT T wE qEe Rvew iy

q

Age (359)
0-10
10-20
20-30
3040
40-50
50-60
60-70
70-80

15
15
23
22
25
10
5]
10

Persons (317%)
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(7)

(h) Define the following with the help of one
example each :

HCORFC OILT THRATPR ©o7e WAIIRR Figel
foa -
(i) Sample space
s TR
(ii) Conditional probability
BT TSIl

(iii) Independent events
Fog WO

(i) A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

9Bl @S 5 O I SF 4 B 37 I =g |
o FFIPIS FANCF GO f=e Sweos 2 B
@1 TR T | [0l I A QAR e
faefy 1 1
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